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Yale EERE — [IWEHS

CPA BIRZ#]

HEH | hRERT E | BEE | RGEE | G
B firkg =1 EFHRE" | EFHRE" | THEE"

JHESEEL m m/min m/min m/min

NG

CPA 20-8 | 2000 7.4 9.9 11.0
CPA 30-6 | 3000 6.0 9.9
CPA 40-4 | 4000 )7L 5.0
CPA 50-3 | 5000 3.4 5.0
CPA 60-3 | 6000 3.0 5.0
CPA75-2| 7500 2.0 3.3

CPA 100-3| 10000 3.4 5.0

[12GDclIC T4

INEERSH

S = IFREE | RMNES| SNE| SEhihvE
m m/min kW

mm
mm

2000 - 6000 98 - 180 27 2.0 18 0.55
2000 - 6000 B 180 - 300 27 1.8 18 0.55

7500 - 10000 125 -310 40 1.8 = =




EERE — [IWEHS

CPA SMERST

FilE=] CPA 100-3

A, mm 1068
A1, mm 651

B, mm 60

C, mm 52

D, mm

F1, mm

F2, mm

G, mm

G1, mm

G2 (13 m), mm
G2 (21 m), mm
H1, mm

H2, mm

H3, mm

K1, mm

K2, mm

M, mm

N, mm

Q1, mm

Q2, mm

CPA m$4=X, 2000 - 3000 kg, B & CPA m#3X, 4000 - 6000 kg, Wik




Yale

CPA 5MEER~F
k=3

CPA 20-8

CPA 30-6

CPA 40-4

EERE — [IWEHS

CPA 50-3

CPA 60-3

CPA 75-2

CPA 100-3

A2 (13 m), mm
A2 (21 m), mm
A4, mm
A5, mm
A6, mm

b, mm

F, mm

I, mm
LT, mm
L2, mm
L3, mm
L4, mm
L5, mm
L6, mm
O, mm
P, mm
P1, mm
S, mm

t, mm
T1size A
T1size B

430
530
465
298
190
A=98-180/
B =180-300
150
142.5
209
262.5
265
213
312
315
125
208
284
b+ 70
27
182
242

430
530
465
298
190
A=98-180/
B =180-300
150
142.5
209
262.5
265
213
312
315
125
208
284
b+ 70
27
182
242

430
530
615
298
190
A=98-180/
B=180-300
150
142.5
209
262.5
265
253
272
275
125
208
284
b+ 70
27
182
242

430
530
615
298
190
A=98-180/
B=180-300
150
142.5
209
262.5
265
253
272
275
125
208
284
b+ 70
27
182
242

430
530
615
298
190
A=98-180/
B =180-300
150
142.5
209
262.5
265
253
272
275
125
208
284
b+ 70
27
182
242

530
855
477
182

125-310

113
130
200
215
265
291

530
965
425
182

125-310

113
130
200
215
265
291

) 5000 kg

5000 kg




